Total No. of Questions—35] [Total No. of Printed Pages—4

Seat

No. [4763]-301

T.Y. B.Com. EXAMINATION, 2015

BUSINESS REGULATORY FRAMEWORK (M. LAW)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. What is ‘Acceptance of Proposal’ ? Explain in detail the legal rules

for ‘Acceptance of Proposal’. [16]

2. Define the terms ‘Conditions’ and ‘Warranties’. Explain in detail the

implied conditions and warranties. [16]

Or

What do you mean by ‘Contract of Bailment’ ? Explain the rights
and duties of Bailor. [16]

P.T.O.
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3. (A) Explain in detail the salient features of Consumer Protection
Act, 1986. [8]
(B) Explain the rights and responsibilities of Patentee. [8]
Or
(A) Explain the objectives and activities of World Intellectual Property
Organisation (WIPO). [8]
(B) What is ‘Copyrights’ ? State the characteristics of copyrights
and rights of copyrightholders. [8]
4, What is ‘Negotiable Instruments’ ? Explain the essentials of Promissory
Note, Bill of Exchange and Cheque. [16]
5. Write short notes (any two) : [16]
(a) Powers and Duties of Arbitrator
(b) Digital Signature
(¢c) Importance of E-commerce
(d) Consumer Protection Councils.
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Total No. of Questions—4] [Total No. of Printed Pages—8+4

Seat

No. [4763]'302

T.Y. B.Com. EXAMINATION, 2015
ADVANCED ACCOUNTING

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(ztzz1) Use of calculator is allowed.

1. (a¢) Answer in omne sentence only (any five) : [10]
(i) Excess of assets over liabilities means what ?
(ii) Give the formula to calculate ‘Liquid Ratio’.
(iit) Accounting Standard-19 stands for what ?
(iv) What is period of Indemnity ?
(v)  What is meant by ‘Non-Performing Assets’ ?
(vi) Name the parties of Fire Insurance Contract.
(vit) In Farm Accounting which expenses are transferred to

General Profit and Loss A/c ?

P.T.O.



(b) Write short notes on (any fwo) :

(i)  Accounting Standard No. 7

[14]

(i) Difference between Financial Accounting and Management

Accounting
(iit) Departmental Accounts
(iv) Short Sales

(v)  Contingent Liabilities.

2.  The following is the Trial Balance of Modern

Bank Ltd. as on 31st

March, 2014 [14]
Trial Balance
Particulars Debit Credit
(Rs.) (Rs.)
Premises Less Depreciation 3,70,000 —
Money at call and short notice 4,30,000 —
Furniture Less Depreciation 60,000 —
Depreciation on Bank’s Assets 22,000 —
Non-Banking assets acquired in
settlement of claims 40,000 —
Cash in hand 6,00,000 —
Cash at Bank 5,00,000 —
Investments 7,00,000 —
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Loans, Cash Credit and Overdrafts 25,30,000 —
Interest on Deposits and Borrowings 4,00,000 —
Audit fees 9,000 —
Salaries and Allowances to Staff 81,000 —
Director’s fees 8,000 —
Postage and Telegrams 2,700 —
Printing and Stationery 7,400 —
Other Expenditure 4,900 —
Issued and Subscribed Capital 12,000 shares
of Rs. 100 each fully paid — 12,00,000
Statutory Reserve — 2,40,000
Deposits — 25,00,000
Provident Fund — 2,70,000
Borrowings from Maharaja Bank Ltd. — 5,10,000
Unclaimed Dividend — 8,000
Commission and Exchange — 75,000
Profit on Sale of Non-Banking Assets — 2,400
Profit & Loss A/c as on 1-4-2013 — 2,24,600
Interest and Discount — 7,35,000
57,65,000 57,65,000
[4763]-302 3 P.T.O.



Adjustments :

(1)

(2)
(3)
(4)

(5)
(6)
(7)

The Authorised Capital of the bank consists of 15,000 shares
of Rs. 100 each.

Provide Rs. 20,000 for Bad and Doubtful Debts.

Bills for collection amounted to Rs. 2,10,000.

Acceptances, Endorsements and other obligations amounted to
Rs. 1,04,000.

Provide Rs. 3,000 for Rebate on Bills discounted.

Provide Rs. 21,000 for taxation.

Postage stamps of Rs. 320 and stationery of Rs. 1,400 was

in hand on 31st March 2014.

Prepare Profit and Loss A/c for the year ended 31st March, 2014

and Balance Sheet as on that date as per the Banking Regulation

Act.

M/s Asha Manufacturing Co. Ltd. is insured under a loss of profit

policy insurance for Rs. 1,26,000. They close their books of accounts

on 31st December every year. An unexpected fire damaged their
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premises considerably on 1st July, 2013. Information available from

records is as follows :

Rs.
Turnover during the year ending 30-6-2013 14,40,000
Turnover during the year ending 31-12-2012 12,00,000
Turnover from 1st July 13 to 30th Sept. 13 60,000
Turnover in the corresponding period of 2012 3,60,000
Standing charges for the year ending 31st Dec. 2012 72,000
Net Profit during the year ending 31st Dec. 2012 48,000

It has been ascertained that the business has consistently shown
increase of 25% in turnover in the months preceding the date of
fire over corresponding period of the previous year.

Show the amount of claim. [14]

3. (a) Zodic Company Ltd. submits the following details regarding
one of their 6% Investment for the year 2013-14 :
Opening balance on 1-4-2013, face value Rs. 60,000 at Rs. 56,000.
The following purchases and sales were made out of these
investments during the year ended 31-3-2014 :
Purchases on :

(1) 1-8-2013 Face Value Rs. 10,000 at Rs. 101 cum-interest.

(2) 1-11-2013 Face Value Rs. 15,000 at 103 ex-interest.
[4763]-302 5 P.T.O.



(b)
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Sales on :

(1) 1-9-2013 Face Value Rs. 10,000 at Rs. 104 cum-interest.

(2) 1-2-2014 Face Value Rs. 20,000 at 103 ex-interest.

The interest is payable on 1st January and 1st July

every year.

Write up Investment Account as on 31st March, 2014. Investments

on 31-3-2014 are to be valued at cost by First-in First-out

Method.

[8]

M/s Maharaja Traders, Pune has a branch at Satara. The goods

are invoiced to branch so as to show a profit of 30% on Invoice

price, under strict instructions of selling goods only at invoice

price. The following are the particulars relating to branch :

Particulars

Stock on 1-1-2013 (Invoice Price)

Debtors on 1-1-2013

Goods sent to Branch (at invoice price)
during the year

Goods returned by Branch (at invoice price)

6

Rs.

12,000

6,200

35,000

1,000
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Credit Sales made during the year

Cash Sales made during the year

Goods returned by customers
Cash from Debtors

Discount allowed to Debtors
Allowances made to Debtors

Bad Debts during the year

Cheques sent to Branch for :

Salaries
Rent and Rates

Shortage of goods at branch

21,000

20,000

600

19,000

300

200

600

3,300

2,000 5,300

400

Ascertain the profit or loss made by the branch by

preparing :

(1) Branch Stock Alc

(2) Branch Debtors Alc

(3) Branch Expenses A/c and

(4) Branch Adjustments Alc.

7

[14]
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4.  The following is the Trial Balance of ABC Farms Ltd. as on 31st

March, 2014 :
Trial Balance as on 31-3-2014

Particulars Debit Credit
(Rs.) (Rs.)

Issued Capital — 4,00,000

Land and Building at cost 5,00,000 —

6% Debentures — 2,00,000

P & L A/c (Balance on 1-4-2013) — 20,000

Opening Stock

Growing crops, wheat, fertilisers 20,000 —

Livestock—sheep 40,000 —

Feed for Livestock 4,000 —

Farm Machinery

(Original Cost Rs. 80,000) 36,000 —

Salaries and Wages (Manager) 12,000 —

Salaries and Wages (Farm Workers) 16,000 —

Farmhouse Expenses 6,000 —

Allowances to Managers for Staff-meals 9,600 —

[4763]-302 8



Crop expenses : seeds and fertilisers 12,000 —

Livestock—Purchases 20,000 —
Livestock—Maintenance (Food-stuff) 24,000 —
Repairs to Farm Machinery 1,600 —

Repairs and Maintenance of Building :

Barns etc. (for crops) 800 —
Sheep yard 1,200 —
Hand tools and equipments 4,000 —
Office Expenses 6,000 —
Mortgage Interest (on debentures) 12,000 —
Sale of Livestock — 76,000
Sale of Wheat and Straw — 1,04,000
Director’s Fees 4,000 —
Sundry Debtors 20,000 —
Sundry Creditors — 4,000
Manager’s Personal Alc — 2,000
Bank Balance 56,800 —

8,06,000 8,06,000

[4763]-302 9 P.T.O.



Additional Information :

(1)

(2)

3)

(4)

(5)

[4763]-302

The manager is entitled to free residence (except as below)
and to a commission of 10% on profit made by livestock section
after charging such commission. He is chargeable with 1/3rd
of Farmhouse Expenses, balance being charged to Crop Alc.
Livestock section is to bear 10% Manager’s Salary and Staff
meals and 25% of other Farmhouse expenses of common type.
Depreciation of Farm Machinery @ 10% of Original Cost is
to be charged.

Closing Stock :

Rs.
Growing crops, wheat, fertilisers 32,000
Livestock 60,000
Feed for livestock 2,000
Hand Tools and equipments 800

Office expenses, Director’s fees and Debenture interest are not

to be allocated.

10



(6) Rs. 8,000 worth of food-stuff grown in the farm was used
for feeding the Livestock.
(7)  Directors propose 10% Dividend on Shares.
Prepare Crop A/c, Livestock A/c, P & L. A/c for the year ended 31st
March, 2014 and Balance Sheet as on that date. [20]
Or
Shree Vijay keeps his books under Single Entry System. He gives

you the following information relating to the year ending 31st March,

2014 :
Summary of Bank Transactions

Dr. Cr.
Particulars Rs. | Particulars Rs.
To Balance at Bank 4,350 | By Drawing 7,520
To Sundry Debtors 38,400 | By Trade Creditors 27,100
To Bills Receivable By Bills Payable 9,300
Realised 12,000 | By Wages 12,000
To Commission By Salaries 6,500
Received 1,500 | By Rent & Taxes 4,400
To Cash Sales 8,600 | By Insurance 800
To Balance c/d 3,350 | By Carriage Inward 250
By Advertising 330
68,200 68,200

[4763]-302 11 P.T.O.



Particulars of Other Assets 31st March [31st March
& Liabilities 2013 2014
(Rs.) (Rs.)
Stock in Hand 18,700 23,400
Debtors 12,000 14,000
Creditors 9,000 1,500
Bills Receivable 4,000 5,000
Bills Payable 1,000 200
Outstanding Salaries 600 1,200
Office Furniture 600 600
Office Building 12,000 12,000

A provision of Rs. 1,450 is required for doubtful debts on debtors
and depreciation @ 5% is to be charged on Furniture and Building.
There are outstanding wages Rs. 3,000. Insurance has been pre-
paid to the extent of Rs. 250. Legal expenses are outstanding to

the extent of Rs. 700.

You are required to prepare Total Debtors A/c, Total Creditors Alc,
Total Bills Receivable A/c. Bills Payable A/c, Trading & Profit and
Loss A/c for the year ending 31st March, 2014 and Balance Sheet

as on 31st March, 2014. [20]

[4763]-302 12



Total No. of Questions—35] [Total No. of Printed Pages—4

Seat

No. [4763]-303

T.Y. B.Com. EXAMINATION, 2015

ECONOMICS

(Indian and Global Economic Development)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Compare the Indian Economy with Developed Economies with
respect to : [16]
(1) Agriculture
(2) Industry and

(3) Service sector.

2. Explain the broad features of Industrial Policy, 1991. [16]

P.T.O.



Or

Explain the causes of Rural Indebtedness in India and discuss the

measures for the elimination of Indebtedness. [16]
3. (A) State the failures of Indian Planning. [8]
(B) Explain the concept of Human Development Index. [8]

Or

(A) State the role of Infrastructure in economic development. [8]

(B) Explain the objectives of European Union. [8]

4, What is disequilibrium in Balance of Payments ? What are its causes ?

Explain the measures used to correct it. [16]

5. Write short notes on (any fwo) : [16]
(a) Arguments for Privatisation
(b) Directional change in India’s Export
(c) Progress of SAARC
(d) Functions of IMF.
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Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [47631-304

T.Y. B.Com. EXAMINATION, 2015
ECONOMICS
(International Economics)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(iit) Draw diagrams wherever necessary.

1. Explain in detail the role of International Trade in economic

growth. [16]

2. Critically examine the Comparative Cost Advantage Theory of

International Trade. [16]

Or

Explain in detail the arguments for and against Protection Trade

Policy. [16]

P.T.O.



3. (A) Explain the merits and demerits of Flexible Exchange Rate. [§]

(B) Explain the structure of Foreign Exchange Market. [8]

Or
(A) Explain the concepts of Balance of Trade and Balance of
Payments. [8]

(B) Explain briefly the role of Multi-national Corporations. [§]
4. Explain in detail India’s Foreign Trade Policy since 1991. [16]

5. Write short notes on (any fwo) : [16]
(i)  Purchasing Power Parity Theory
(it) Gross Barter Terms of Trade
(1it) SAARC
(iv) International Labour Migration.
(TS EUIR)
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Total No. of Questions—35] [Total No. of Printed Pages—15

Seat

No. [4763]-305

T.Y. B.Com. EXAMINATION, 2015
AUDITING AND TAXATION

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(ztzz1) Use of calculator is allowed.

1. What is Vouching ? What special points should be considered while
doing the vouching of “Wages” and “Credit Sales” ? [16]

Or
Explain the qualification, disqualification and appointment of Company

Auditor’s Provisions under Company Act.

2. Write short notes on (any four) : [16]
() Audit Programme

(b) Tax Audit

(¢c) Internal Audit

P.T.O.



(d) Types of Audit Report
(e) Difference between verification and valuation of assets

() Auditing in an EDP environment.

3. Define the following terms : [8]
(a) Agricultural Income
(b) Assessment Year
(¢) Income
(d) Short term capital gain.
Or

Mr. Manoj owns two houses which he occupied for his own residence.
He submits the following particulars in respect of the houses for

the financial year 2013-2014 :

Particulars House No. 1 House No. 2
3 3
Municipal Valuation 1,00,000 50,000
Fair Rent 1,20,000 65,000
Standard Rent 1,00,000 66,000
Repairs 15,000 16,000
Insurance 9,000 8,000

[4763]-305 2



Municipal Tax (% of Municipal Value) 10%
Interest on Loan for Construction 1,05,800
Date of Completion of Construction  31st Aug. 2012
Date of borrowing the loans 1st July, 2006
Interest on Loan for Pre-construction

period 50,000

10%
5,000
31st Aug. 2007

1st Nov. 2005

As a Tax Consultant compute the Income from house property of

Mr. Manoj for the Assessment Year 2014-15.

4, (A) Mr. Pawar Vinod is employed in Telco Ltd., Pune as an accountant.

During the Financial Year 2013-14 he has received the following

emoluments :

(1) Basic Salary ¥ 15,500 p.m.

(2) Dearness Allowance 30% on basic salary.

(Applicable for retirement benefits)

(3) City compensatory Allowance I 850 p.m.

(4) Children education allowance ¥ 300 p.m.

[16]

(Mr. Pawar Vinod has two sons and one daughter)

[4763]-305 3
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(5)

(6)

(7)

(8)

9)

(10)

(11)

House rent allowance I 2,200 p.m.

He contributed ¥ 2,500 p.m. towards his recognised provident

fund and an equal amount is contributed by the employer.

He has paid ¥ 2,500 as Professional Tax.

During the year the interest credited to his recognised

Provident Fund A/c @ 12% p.a., amounted to I 14,400.

He received T 18,000 by way of re-imbursement of the

Hospital bill in respect of treatment of his wife.

He has taken a Life Insurance Policy of T 1,00,000 in

respect of his wife by paying an annual premium of

3 14,800.

He stays in rented house at Pune by paying rent I 3,000

p.m.

You are required to compute the taxable income from salary

of Mr. Pawar Vinod for A.Y. 2014-15.



(B) The following is the Profit & Loss A/c for the year ended

on 31st March, 2014 furnished by Mrs. Ashwini Shelke : [8]

Profit & Loss Alc

Dr. Cr.
Particulars Amount | Particulars Amount
L4 L4
To Salary 78,000 | By Gross Profit 2,00,000
To Advertisement 8,000 | By Sundry Receipts 8,400
To Fire Insurance 3,500 | By Bad debts recovered 5,400
To Office Expenses 4,500 | (Not allowed as deduction
To Depreciation 15,800 | earlier)
To Income Tax 8,600 | By Gifts from Father 25,000
To Bonus 12,800 | By Interest on Bank
To Sales Tax 4,500 Deposits 6,000
To Interest on
Bank Loan 5,600
To R.D.D. 3,500
To Net Profit 1,00,000
2,44,800 2,44,800
[4763]-305 5 P.T.O.



Other Informations :

(1) Salary includes ¥ 4,200 paid to Domestic Servant.

(2) Advertisement includes T 550 as expenditure incurred on

it for selling household furniture.

(3) Allowable depreciation as per Income Tax Act is T 18,000.

(4) Sales Tax includes T 1,300 as penalty for late filing of

returns.

You are required to compute taxable income from Business

for AY. 2014-15 of Mrs. Ashwini Shelke.

5. Mr. Ravi is working as a Manager in Mylon Ltd., Pune. He has
furnished the following details of his income for the year 2013-14 :
[16]
(1) Basic Salary ¥ 50,000 p.m.
(2)  Dearness Allowance 60% of Basic Salary (considered for retirement
benefits)

(3) Commission < 1,20,000.

[4763]-305 6



(4) Transport allowance (for journey between office and residence)

3 15,800 p.a.

(5)  Education allowance I 1,200 p.m. (He has one daughter and

one son).

(6) He received special allowance T 50,000 during the year.

(7)  Personal medical bill of T 25,000 was reimbursed by company.

(8) He contributed to R.P.F. 14% of his basic salary and an equal

amount is contributed by the employer.

(9) The interest credited to R.P.F. A/c balance @ 8.5% p.a. was

% 67,500.

(10) He has a house property in Mumbai. He has let out it at

a monthly rent of ¥ 15,000 p.m. One month rent could not

be received due to vacancy. He paid municipal tax I 14,000

and ¥ 12,000 as fire insurance premium.

(11) Income from Business < 1,05,000.

[4763]-305 7 P.T.O.



(12) Interest on Govt. Securities ¥ 15,000 and dividend on SBI

Mutual Funds 3 17,300.
(13) He received income from lottery (Net T 21,000 and TDS at
30%).
(14) He paid LIC Premium of I 20,000 on his own policy.
(15) He deposited T 97,000 in P.P.F.
(16) The company has deducted T 5,000 p.m. as income tax from
his salary.
Compute the “total taxable income” and “tax liability” of Mr. Ravi
for AY. 2014-15.
(TS TUIR)

q% : o\ A THU T : 80
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(1) T 99 IJ¥ 9. T 3,000 WA Hdoedl =d  JgdM.

o foriic TOR I F SRR I8 2014-15 HRAl AT HIATH

IS hIal.
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omdt if¥et Yo A 31 AN, 2014 USHt FUUAT SMfYe dWia
TRI-AEl T Goe AN HRL $ho 3T [8]
Aw-dAET TSR

2. .
quiTS TIRH | AUTSTS TR
LR 78,000 | <rsfes T 2,00,000
SIS 8,000 | fhiehics THeahd 8,400
A form 3,500 | IS Tt YS! 5,400
EaRiceReT] 4,500 | (qeit SSTERETE AT o
TR 15,800 | egdl)
YT ThT 8,600 | Afeerhgd W 25,000
EleK! 12,800 | s SEteRi® =TS 6,000
IEEJES 4,500
Sk HIG TS 5,600
SIS sl TS 3,500
e Tw 1,00,000

2,44,800 2,44,800
EASC LS

(1) oaIHed S0 Aeead foden

T 4200 Ol THEY STR.
12



fa fa LN

(2) =M ®HER fomiedd ool @€ T 550 B Wifedd T

AR 2=

(3) SR FEEHER U S9N T 18,000 3E.

o [al o (aV o

(4) TashteRy epAd fashiery foerumos SRR e Sed| e o

€ T 1,300 1 GUEY 3R

STt Tfvert Yosh A= HX STRRON I8 2014-15 HRdl HTHRIRLT

LTS A= INe.

S T Aen & fo, 0 39 Fowuue WUF hRRd 3. 2013-14

I AN @ A Sl ’ifsdt qeleud fiioer o’ ¢ [16]

(1)

(2)

(3)

(4)

(5)

(6)
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e o1 TH. T 50,000.
WEE W o daTeN 60% (el @t el ).

HRHE T 1,20,000.

dEqh oW SR ¥ 15,800 (@A d HAEEEE  AvArSoArd).

Jerforer =T ©W. T 1200 (St W AT 1 oW F 1 I AR.)

FRRE & T 50,000 favw wwn fHere.
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(7)

(8)

(9)

(10)

(11)

(12)

(13)

(14)
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Jafaedes ST TE=AT WU W H@RH T 25,000 B

R.

A qfasy fafe et qo Sa = 4% SWPRE O w@a:

Wad o fddeie ©RA $9Hl Alosh ST9eH foo TR,

A=A Ao faig FHeR 85% W ¥ 67,500 Sdeh TSl S0

EICHIC S

e 49 T Tk R AR &@H 0 W T 15,000 SHE Weam o

AR O W Th T Rem To@me 9 oo @ & o
TEE TRAfSGR! v T 14000 d AR fam g1 T 12,000 A

TE.

FHEIEA s 391 T 1,05,000.

WHR Jdadle &S ¥ 15,000 9 THSLSE. WHS HeURd
e @ ¥ 17,300.

I FHuE e 3@ T 21,000 o (e & A
T 30%).

M @A S gaEl WehH ¥ 20,000 W@ ST

14



(15) <GS vfosg frae ftmed T 97,000 WHE SH S

E.

(16) HTAH T oA S@el T 5000 WK & HUM Dol AR

of W A= F SAHRROT T 2014-15 HAAT THU HAUH A 9 hLQAdl

<hlal.
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Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4763]-306

T.Y. B.Com. EXAMINATION, 2015
BUSINESS ADMINISTRATION
Paper II
(Human Resource Development and Marketing)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks allotted to the

question.

1. Define Human Resource Management. What are the functions of

Human Resource Management ? [16]

2. What is selection of employees ? Describe the process of employee

selection. [16]

Or

(A) What are the essential qualities of a Marketing Manager ? [§]

(B) What is branding ? What are the advantages of branding ? [8]

P.T.O.



3. (A) Define the term ‘Advertising’. State the importance of advertising

in modern business. [8]

(B) What are the factors affecting pricing decisions ? [8]
Or

(A) What are the techniques of sales promotion ? [8]

(B) What are the employment opportunities in advertising

field ? [8]

4, What is marketing organisation ? What are different types of marketing

organisation ? [16]

5. Write short notes (any two) : [16]
(@) Product Life Cycle
(b) Scope of Market Research
(¢c) Changing Consumer Behaviour
(d) Benefits and Limitations of Market Segmentation.
(TS EUIR)
q% : A\ A THU T : 80

1. HEET HHEA SHOEAYd WUS k¥ 2 HMECl HHEA SHOEIATYART hid Tt

EX [16]

[4763]-306 2



2. FHIt foe mWuN wE ? wHE e YR W &L

fepar

(31) fouum =FeRemgeR U kivd o Tl

() WSRO RWUN hF ? HIRWOMA ®RQ U ?

[a WY

[16]

[8]

[8]

3. (3 TIfEd ®WUS ®E ? MYHF HIGEIdA S
.

() forua fAfyadieomer 9ftomm +#om S &g ?

fepar

(31) foshaggeli=t o3 woET ?

() feld &l USTIRr=AT 9elf T .

4., fouum wueq wus %I ? fOUUE "EeAd YR R ?

5 dewa foor fowr (e 9F)

(31) o% Sifed sk

() oTeIRUS GINEAMT oAl

(%) AU U@h AUk

() NU3S TIUrfehiome ®Ee 9 dle.

[4763]-306 3
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8]

[8]

[8]

[8]

[16]

[16]



Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4763]-307

T.Y. B.Com. EXAMINATION, 2015
BANKING AND FINANCE
Paper II
(Financial Markets and Institutions in India)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Explain in detail the structure of Indian Financial System. [16]

2. Define Money Market. Explain the institutions and segments of Indian

Money Market. [16]

Or

Explain in detail the working of Bombay Stock Exchange. [16]

P.T.O.



3. (A) Explain the working and progress of Venture Capital Finance

Company. [8]

(B) State the progress of State Finance Corporations. [8]
Or

(A) State the progress of Housing Finance Companies. [8]

(B) State the progress of General Insurance Corporation of

India. [8]

4, State in detail working and progress of Life Insurance Corporation

of India. [16]

5. Write short notes (any two) : [16]
(a) Lease Finance Company
(b) Post Office Small Saving Schemes
(¢c) Industrial Finance Corporation of India
(d) Unit Trust of India.
(TS TUIR)
q% : A\ A THU T : 80

ol :— (i) Wd YA STeRgs SR

({ii) TSIl U IUST WIAUAHT g,

o (aV

1. gRag fo<iia gomet=it @A 9fasl T R [16]
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o [a

2. AT ST °1. YR AOOeRdie foda §gen i U«

. [16]
feRar

Aas @ deNE SRdsd gfas W & [16]

3. (3) URH YEde fauyiEdl ®UAE &EUgdl ST W WA 8]

() T foqee #ASa= Wi 9. 8]
feRar

(37) TRfad ad I W TR HA. 8]

(9) 9RdE HeHERe fam Aemeerel Wl | [8]

4. A SioA fod Aemeest wRidgdt oo Wl gfos il TR %4, [16]

5. dieqd four fogr (o @F) [16]

(37) weugl foqqEer &dHl
(9) U AfRE Aeqe=d  diSHl
(%) 9RdE SiENfe faaqiae memees

(¥) ¥RdE JHe T=
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Total No. of Questions—35] [Total No. of Printed Pages—4

Seat

No. [4763]-308

T.Y. B.Com. EXAMINATION, 2015
BUSINESS LAW AND PRACTICES
Paper II
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. State scope of Employees Provident Fund Act, 1952. Explain provisions

of Employees Provident Fund Scheme. [16]

2. State the provisions regarding contribution as per the Employees

State Insurance Act, 1948. [16]

Or

What is meant by Special Economic Zone ? State the privileges

gets to the developers of the SEZ and units of the SEZ under
Special Economic Zone Act, 2005. [16]

P.T.O.



(@)

(b)

(c)

(d)

[4763]-308

3. (A) State the powers and duties of Director General and Registrar
as per Competition Act, 2002. [8]

(B) State the powers and functions of Securities Exchange Board

of India (SEBI). [8]

Or

(A) State the provisions for appointment of Advisory Board and
Central Advisory Board under Minimum Wages Act, 1948. [§]

(B) State the general duties of occupier of factory as per Factories

Act, 1948. [8]

4, Explain the provisions relating to the health of the workers in the
factories under the Factories Act, 1948. [16]

5. Write short notes on (any fwo) : [16]

Authorised deductions from the wages (Payment of Wages
Act, 1936)
Realisation and Repatriation of Foreign Exchange (FEMA
Act, 1999)
Composition and powers of Competition Commission (Competition
Act, 2002)
Time period and medium for Payment of salary (Salary and

Wages Act, 1936).



(WS wUIaR)
q% : o\ A TR T : 80

ol — (i) Wd YA STeRgs SR

1. FHa vfgs fafg M 9 s TEEn &, 1952 < Sl 9H wHER]

fgsy frafe et o= "Ag@men Wgal 9. [16]

2.  HHIR TS foml ASHT HEE, 1948 O e Wewrm  (Contribution)

Selqe Tgal 9. [16]
feRar

foRm enfder &9 wuS w@ ? faRiw snfYfe & whrEer, 2005 A fow

sfdfen & forenar ofor foRim smfYfer &edte Seml (Units)  faasuman

Hered! | [16]

3. (31 Wyl wE, 2002 A SRR SR A0 Aigun At are iR
g Hded WL [8]
(9) 9RdE wdrgdt ofor fafa sse (Je) AfvwR 9 wE 4. (8]

fepar

n

(37) TFAM AqT FEEI, 1948 TIR FCONR HES d had HCONR HED

AT AHh STEdSAl el | 8]

(4) HREATE HES, 1948 TUR HREFMIGHTE FAHLRI  Haod

7. [8]
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4, PIREM HEC, 1948 TY HREAME SR AT doaeA Q@]

e . [16]

5. dieqa four fogr (o @F) [16]

(31) oA R FUFA HKA (AT QUATERSEl ShEel, 1936)

(9) wha I fawtl 9 TERumd drefauderedsal ddel (HHT R, 1999)

(h) T AN T 9 YRR (T wEEr, 2002)

(8) o QUIEN hreEHdl ST WiggH (Sdd 9 WS hIESl, 1936)
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Total No. of Questions—35] [Total No. of Printed Pages—4

Seat

No. [4763]-309

T.Y. B.Com. EXAMINATION, 2015
CO-OPERATION AND RURAL DEVELOPMENT
Paper II
(Co-operative Management and Administration)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. What is meant by Co-operative Management ? Explain the objectives

and functions of Co-operative Management. [16]

2. Define Decision-Making. State the importance of Decision-Making in

Co-operative Management. [16]

Or

What is meant by Professionalisation of Management ? Enumerate

the need and significance of Professionalisation of Management. [16]

P.T.O.



3. A

(B)

(A)

(B)

[4763]-309

Write a brief note on Co-operative Philosophy. [8]

State the problems of Co-operative Administration in

Maharashtra. [8]
Or

Describe the characteristics of Financial Planning. [8]

Explain the responsibilities of Co-operative Auditor. [8]

4, Define Co-operative Audit. Explain in detail the different types of
Co-operative Audit. [16]
5. Answer the following questions (any two) : [16]
(i) Explain the need of Financial Control in Co-operatives.
(ii) Explain the qualification and duties of Co-operative
Auditor.
(iiz) Distinguish between Co-operative Finance and Corporate
Finance.
(iv) Explain the various sources of Finance to Co-operatives.



(A0S ®UI)
q% : o\ A THU T : 80
o :— (i) Wd WA Hisfau ofemds .
(i) IShele 3k TYAE YU IO SEifaar.

1. TEhR FAOA TUS & ? TEhR FAOAEl e o HE T

EX [16]

2. ‘fIuig emHa=l’ e 9. Wekhrl SHIRIAd AUt emaw (vt S

&A1) Hecd 9. [16]
ferar

LTI SATAHIhh 0l FBUS h1d 7 SHAEATIATAT AT Ieh ek L0l TS

MU Heged Tavie . [16]

3. (31) eIl doagH Il dreedd feu  fosl [8]

(9) UENIe TehRl YRMEAe <Y 9. [8]
ferar

(31) fa<ra fraeErEr afymse fave . [8]

(d) UEHhNl SEUUIRTAT SEEe Il T 6. [8]

4. TRl ST ARl E M. ekl sEadaune fafay gyer gfaer

e . [16]
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5. Wolo et SW oo (HUd dF) [16]

() Hehrmed fafqa fEsomet WS TS .

(ji) UTehRl OEMIRRMET U=ar A0 whxisd 9.
(Gii) Hewrd faa onfor wuat fod adie B T &AL
(jv) WTehr fafay fafga 9@ (9rf) T &
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Total No. of Questions—35] [Total No. of Printed Pages—8

Seat

No. [47631-310

T.Y. B.Com. EXAMINATION, 2015
COST AND WORKS ACCOUNTING
Paper II

(Overheads and Methods of Costing)

(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

(ztzz1) Use of calculator is allowed.

1. (A) State whether the following statements are True or False : [5]

(1) Production overhead is different from the factory

overhead.

(2) Job costing may be used where product of similar nature

in large numbers are produced.

(3) Joint products are produced from the same raw materials.

P.T.O.



(4) The important difference between a job and contract is

that of size.

(5) Service costing is a form of operations costing.

(B) Fill in the blanks : [5]

(1) Any expenditure over and above the..................... cost is known

as overhead.

(2) In job costing each job is treated as a separate................ .

(3) In process costing the output of one process become

the...oooovveeiiee, of another process.
(4) A contract is generally of....................... duration.
(5) In activity based costing system, cost..........ccccuvvvrnnnnnnn, is like

a cost centre.

2. What is Activity Based Costing ? Explain the purposes and benefits

of Activity Based Costing. [15]

Or

Define the term ‘Service Costing’. Explain the applicability of service

costing and important features of service costing. [15]

[4763]-310 2



3. Write short notes on (any three) : [15]
(1) Behaviourwise classification of overheads
(2) Escalation clause in contract costing
(3) Joint product
(4) Advantages of Job Costing

(5) Under and over absorption of overheads.

4, (A) Telco Co. Ltd. Pune, has three Production Depts. viz. A, B
and C and two Service Depts. viz. ‘P’ and ‘Q. The following
figures are extracted from their books for the month ended
31st March, 2014.

Indirect Expenses :

(Rs.)

Production Dept. A 100
B 600

C 300

Service Dept. P 700
Q 300

Electric lighting 2,000
Power 3,000
Plant Depreciation 9,000
Rent and Taxes 5,500

[4763]-310 3 P.T.O.



The other details are as follows :

Particulars A B C P Q
Light Points No.| 14 10 4 8 4
Electricity kWh 50 30 20 30 20
Value of Plant Rs. | 70,000 | 30,000 {10,000 {30,000 | 10,000
Floor space sq.ft. | 4000 3000 1000 | 2000 1000
Working Hours | 2500 2250 | 2375 — —

The expenses of Service Dept. P and Q are to be allocated

as follows :

Particulars A B C P Q
Service Dept. P | 30% 20% 40% — 10%
Service Dept. Q| 20% 30% 30% | 20% —

[4763]-310




(B)

[4763]-310

You are required to distribute the Service Dept. Expenses to

Production Dept. under simultaneous equation method. Also

calculate hourly rate of each Production Dept. [15]

Work out the machine hour rate for the following machine,

whose scrap value is nil :

Cost of Machine

Installation charges

Working life

Working hours

Rs. 90,000

Rs. 10,000

10 years

2000 per year

Repairs charges 50% of depreciation

Power 10 units per hour @ 10 paise per unit.

Lubricating oil @ Rs. 2 per day of 8 hours.

Consumable stores @ Rs. 10 per day of 8 hours.

Wages of operator @ Rs. 4 per day of 8 hours. [5]

P.T.O.



5. (A

(B)
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A product passes through two distinct processes A and B.
From the following information you are required to prepare

process ‘A’ Account, Process ‘B’ Account, Abnormal Loss Account

and Abnormal Gain Account. [10]
Particulars Process ‘A’ |Process ‘B’
Materials (introduced 20,000 units

in Process ‘A’) Rs. 30,000 3,000
Labour (Rs.) 10,000 12,000
Overheads (Rs.) 7,000 9,850
Normal loss 10% 4%
Scrap value of normal loss (Rs.) 1 per unit [ 2 per unit
Output (Units) 17,500 17,000

Surya Builders, Nasik is engaged on two contracts viz. A and
B during the year 2013-2014. The following particulars are available

on 31st March, 2014 in respect of ‘Contract A’ :

Rs.
Contract Price 6,00,000
Materials issued to contract 1,60,000
Materials returned to stores 4,000

6
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Materials on site on 31-3-2014

Materials transferred to ‘Contract B’

Direct labour

Chargeable expenses outstanding

Wages Payable

Direct Expenses

Hire of special machinery

Administration overheads

Plant installed at site at cost

Cost of contract not yet certified

Plant installation charges

Value of work -certified

Value of plant on 31-3-2014

Cash received from contractee

22,000

9,000

1,40,000

6,000

2,000

60,000

10,000

25,000

75,000

23,000

5,000

4,20,000

65,000

3,78,000

You are required to prepare Contract ‘A’ account for the year

ended 31st March, 2014.
7

[10]
P.T.O.



(B)
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Or

From the following particulars relating to Royal Transport Co.

Raigad, calculate the cost per running km :

Particulars

Wages to driver per month

Cost of Diesel per litre

Cost of oil per year

Cleaning charges per year
Insurance premium per year

Road Tax (15 years)

Repairs and maintenance per year
Cost of Tyres, Tubes etc. (4 years)
Diesel km per litre

Cost of Vehicle

Estimated life

Scrap value of vehicle

Estimated annual running

10

Rs. 3,000
Rs. 60
Rs. 1,200
Rs. 2,400
Rs. 4,800
Rs. 30,000
Rs. 2,000
Rs. 12,000
km 15
Rs. 5,00,000
Years 15

Rs. 50,000

km 60,000



Total No. of Questions—35] [Total No. of Printed Pages—7

Seat
No. [4763]-311
T.Y. B.Com. EXAMINATION, 2015
BUSINESS STATISTICS
Paper II
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

1. (@A)

(i1) Figures to the right indicate full marks.

(ztzz1) Use of calculator and statistical table is allowed.

Attempt any four of the following : [2 each]
(a) Define null hypothesis and alternative hypothesis.

(b) Define expectation and variance of discrete random

variable.
(c) State any two properties of Normal Distribution.
(d) Define the term estimate and estimator.

() If Z ~ N (0, 1), then find P(-2 < Z < 2).

P.T.O.



(B)

[4763]-311

(f) State whether each of the following statements is True

or False :

(i) Probability always lies between 0 and 1.

(z1) Under certain situations, binomial distribution can be

approximated by Poisson distribution.

Attempt any two of the following : [6 each]

(@) Given P(A) = 05, P(B) = 0.8, PA n B) = 0.6, find :

(@) PA")

(1) PA v B)

(izi) P(A/B).

(b) A random variable X has the following probability distribution :

X

0

PX)

k

3k

5k

Tk

9k

11k

13k



(1) Find the value of k.
(z2) Find PX > 3).
(zzz) Find P1 < X < 5).

(¢) In 20 questions of multiple choice with 4 options, find the

probability of getting :
(i) exactly 7 correct answers.

(1z1) at least 2 correct answers.

2. Attempt any two of the following : [8 each]

(a) Define the following terms :
(i) Independent event
(i) Exhaustive event
(iti) Level of Significance

(iv) Sample space.

(b) Let X ~ N (100, 64), find :
(i) PX < 110)
(1) PX > 80)
(i) P14 < X < 114)

Gv) P88 < X < 108).

[4763]-311 3 P.T.O.



(c)

Suppose a fair coin is tossed thrice. Let X denotes the number

of heads and Y denotes the number of tails. Obtain :

(2)
(it)

Joint probability distribution of X and Y

Marginal probability distribution of X and Y

(iiz) Conditional probability distribution of Y, given X = 0.

3. Attempt any two of the following : [8 each]

(@)

(b)

[4763]-311

(2)

(i1)

(2)
(it)

In a distribution exactly normal 7% of the items are under
35 and 89% are under 63. Find the mean and S.D. of
the distribution.

In a population of size 5 the values are 1, 2, 4, 5, 8.
Draw all possible sample of size 2 using SRSWOR. Verify
that sample mean is an unbiased estimator of population
mean.

State additive property of Normal distribution.

In a random sample of 800 persons from rural area 200
found to be smoker. In a sample of 1000 persons from
urban area 350 found to be smoker. Test whether proportion
of smokers is same for both populations. Use 5% level

of significance.



(c)

Fill in the blanks of the following ANOVA tables marked

({3

Source of Variation | Degrees of | Sum of Mean |Variance
Freedom |Squares | Sum of Ratio
Square
Between Salesman 4 45 — —
Between Months 3 91 — —
Error 8 80 — —
Total 15 216

Test the homogeneity of machine types and workers.

Use 5% level of significance.

4, Attempt any two of the following :

(@)

(b)

[4763]-311

[8 each]

(i) The sample of 900 ball bearings is found to have average

weight of 12.5 grams. Can we assume that a sample is

coming from a population with mean 13 grams and S.D.

1 gram ?

(i1)

Let X and Y be two random normal variables with parameters

(0, 16) and (1, 9) respectively. Find P(2X + 3Y > 8).

(1) Define the term ‘Permutation’. Find the number of all different

arrangement of the letters of word ‘STATISTICS’.

(i1)

find PX = 0), P(X > 1).

5

If X follows Poisson distribution and P(X = 1) = 2PX = 2),

P.T.O.



(c)

The following data gives yield in 20 plots :

6, 18, 26, 8, 19, 30, 9, 20, 31, 10, 13, 12, 15, 16, 30, 17,
20, 24, 23, 25.

Write down all possible systematic sample of size 5 and verify

sample mean is unbiased estimator of population mean.

5. Attempt any two of the following : [6 each]

(@)

[4763]-311

A dealer supplies the following information with respect to

a product :
Annual demand — 10000
Ordering cost — Rs. 10 per order
Price per unit — Rs. 20
Inventory carrying cost — 20%
Back order cost — 25%
Determine :

(i) The optimal order quantity
(ii) The optimal back order quantity
(iii) Optimal number of orders

(zv) Total cost.



(b)

(c)

[4763]-311

A population is divided into three strata as small, medium,

large. From each stratum sample is drawn the observations

are given below :

Stratum Ni
Small 110
Medium 60
Large 30

ni
20
15

10

Total of the stratum samples
4000
10500

60000

(i) Estimate population stratum means.

(ii) Estimate population mean and population total.

(iii) Estimate population stratum total.

In a certain experiment different values is observed to be as

12, 26, 38, 41, 35, 30, 18. The corresponding values on the

basis of certain theory were calculated as 14, 24, 40, 40, 35,

30, 20. Is there significant difference between observed and

expected frequency. Use 5% level of significance.



Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4763]'312

T.Y. B.Com. EXAMINATION, 2015
BUSINESS ENTREPRENEURSHIP
Paper II
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(ii) All questions carry equal marks.

1. Write a detailed note on objectives and working of District Industrial

Centre (DIC). [16]

2. What is Business Opportunity ? Describe the various elements considered

in selection of specific product. [16]
Or
What is Business Plan ? What are the precautions to be taken

by an Entrepreneur while preparing a Business Plan ? [16]

P.T.O.



3. (a) Explain the Self-Employment Schemes of Government of
Maharashtra. [8]
(b)  Write a note on Maharashtra Industrial Development Corporation

(MIDCO). [8]

Or
(a) Write a detailed note on Operations Management and Marketing
Management. [8]

(b) Describe the success story of Shriniwas Pandit. [8]

4, State the meaning, causes and remedies of Industrial Sickness. [16]

5. Write short notes on (any fwo) : [16]

(@)
(b)

(c)

Critical Path Method (CPM)
Stability and Growth Phase Management

Break-Even Point (BEP)

(d) Importance of Business Networking.
(W& TUIR)
d9% : W a™ TR T : 80

ol :— (i) ®d WA ANEE  sTRd.
(i) ¥E YIAM F§AM O S

1. fSogr =W S5 S 9 &N geR gfos) feg fomrn [16]

2. aUE §Ht ®WuN & ? faftte awgel fee wam foeRa Sae SR

fafay wew= Ui+ [16]
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fepar

O™ A WU T 2 TGl ASHl IR hidql el Shildl

hidSl] Ml @A ? [16]

3. (31) RN e fafay w@E-UsmRren A 9. [8]

(F) TRRMe SiEfieh fowm wres aex fou =m [8]
fepar

(1) ‘‘Ufshan e’ 9 YfaquM SgerkemH’’ Aer feu fom [8]

(F) siffam dfeqd == Ieimmen wfaw® @ 8]

4,  SIERleR SSRUTTET Y, RO WA Ae SURESEET @€ w3 [16]

5. dieqa four fogr (o @F) [16]
(3F) S HEl ggdat (CPM)

(@) Wi 3 gt azurm feodt
(%) wHfa=xed &g (BEP)

(8) HoHE Sesdld HEwE.
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Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4763]'313

T.Y. B.Com. EXAMINATION, 2015
MARKETING MANAGEMENT
Paper II
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1.  What is Marketing Management ? Explain the various responsibilities

of Marketing Manager. [16]

2. Define Customer Satisfaction. Explain the need and importance of

Customer Satisfaction. [16]
Or

What is Market Segmentation ? Explain criteria and approaches of

Market Segmentation. [16]
3. (A) Describe the recent trends in Retail Marketing. [8]

(B) Explain the factors of Industrial Marketing Strategy. [8]

P.T.O.



Or
(A) Write a note on Customer Relationship Management and Customer
Satisfaction. [8]

(B) Write a note on International Marketing Planning. [8]

4, What is Social Marketing ? State the impact of marketing on society

and other business. [16]

5. Write short notes on (any fwo) : [16]
(a) Skills of Marketing Manager
(b) Retaining Customers
(¢) Social criticism on Marketing
(d) Trends in Retail Formats.
(TS TUIR)
q% : o\ A THU T : 80
o :— () WA WA Hisfau ofewds .
(ii) 3IEeld 3Tk YA qu IO Seifea.
(iii) FeWidId! W SUSH WeAUAHT TEE.

1. fIqUA T US| hE 2 f9UuE SHeeush=Al fafay Sdee T

EX [16]

2, AR AW : URE GHIYH. TREk THIYHET TR 9 HES W KA. [16]
feRar
INRUS fauriiehto WS %™ ? INRys favriietome e 9 g

e . [16]
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3. (3 frpxs fauumrda snyfie gaE favg = [8]

(&) ol fouum e = Teh W H. [8]
fepar

(37) TRHR HoY HAAYT A Uk FHIUHE deR feu fomn 8]

(F) smauseE fauom fesmer foo fom [8]

4. gt faque WSl sk 2 fI9UART 9HS Ul SO SHOERIER. BV

gRomg W2 . [16]

5. dieqd four fogr (@@ @F) [16]

(31) faque HEEAUEHE] I

(9) UEwMEl fehagd oo

(&) foyoEEe 9MiSes  fean

fal

() TRl faml TWHAdIA Yare.
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Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4763]-314

T.Y. B.Com. EXAMINATION, 2015
AGRICULTURAL AND INDUSTRIAL ECONOMICS
PAPER 11
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Explain in detail the measures adopted by the government to improve

the agricultural productivity in India. [16]

2. What is land reforms ? Discuss in brief institutional land reforms

after Independence in India. [16]
Or

Explain the various types of agricultural labour. Explain the causes

of unemployment in India. [16]

3. (A) Describe the problems of Agriculture Finance in India. [§]
(B) Explain the significance of Agriculture Processing

Industries. [8]
P.T.O.



Or
(A) Explain in brief social security measures implemented by
Government in India since 1991. [8]
(B) Explain the present situation of Power Generation Industries

in India. [8]

4, Explain the problems of Industrial Finance. Discuss role of
Industrial Development Bank of India in Industrial Finance

since 1991. [16]

5. Write short notes (any two) : [16]
(a) Arguments against privatisation
(b) ICICI and Industrial Finance
(¢c) Progress of Sugar Industry in India
(d) Problems of Small Scale Industries in India.
(TS TUIR)
q% : o\ A TR T : 80
o :— (i) WA WA Hisfau ofemds .
(i) ISEhSle 3 TYAH YU IO gEifaar.
(iii) UGS Yoo SUSH UYAULhl g,

1. 9Rddie d=l IAehdl URUIME THRA  hocdl  IURESH Fia&i

W H. [16]

2. U GURT WUN & ? WOARR HOMe IRAMG SIS SHHA
URUT=  diedd == [16]
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fwar
[Nl = [a)

Jaaeue  fafgg 9eR T & IRAe dUSIIEl $RUl Tee

. [16]

3. (3) 9RdMie Tdt fod qacuren R fave A [8]

(F) A UfRA S W@ R OH 8]
feRar

(31) 19919EA URAN HEhRA  Aisioed]  HHESh G  SUTEErsHl

qeld T . [8]

(9) 9Rddie 3o fAfdd Scurm=n  guferdt e &9 [8]

4, St faq qEcaren WS TR RU. 1991 UNA  YRAE AT

fa NN [N (I‘

fomr el siicdife foq acuie yfis<t ==

. [16]

5. dedm oo fom (v d) [16]
(31) EeERT= faeg e Jikdar
(@) sEHIEHIE  (ICICD ofr siieife fod e

() YRAe 9ReR ISl Yl

(¥) YNAMI® OF Scurl=l §HE.
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4763]'315

T.Y. B.Com. EXAMINATION, 2015
DEFENCE BUDGETING, FINANCE AND MANAGEMENT
Paper II
(Defence Production and Management in India)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 20 words each (any ten) : [20]
(1) What do you mean by Defence Management ?
(2) What is Industrial Policy Resolution ?
(3) Define Strategic Planning.
(4) State the meaning of Public Good.
(5) Define KEconomic Warfare.
(6) What are the objectives of Defence Management ?
(7)  Define Logistics Management.
(8) State the meaning of DPSU.

(9) Define Defence Budget.

P.T.O.



(10) Define Threat perception.
(11) State the meaning of Political Ideology.
(12) What are the sources of Defence Expenditure ?

(13) Define Military Power.

2. Answer in 50 words each (any two) : [10]
(1) Explain relationship between Ideology and Weapons Production.
(2) Describe Industrial Policy Resolution of India.

(3) Describe the role of private sector in defence production.

3. Answer in 150 words each (any two) : [20]
(1) Explain structure of armament production in India.
(2) Write a note on ‘Defence Industries in India’.
(3) Explain relationship between Technology and Weapons

Production.

4, Answer in 300 words each (any fwo) : [30]

(1) How do cost factors affect modernization programme of the
Armed Forces ? Explain.

(2) Highlight on the contrast between “Defence and Development”.

(3) Analyse India’s Defence expenditure from 1990 to present-

day.
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q% : o\ A TR T :

(WS ®aia)

ol :— () Wd WA defau STeRdE  STRd.
(i) ISEhele 3k TYAE YU IO Eifaar.

1. o
(1)
(2)
(3)
(4)
(5)
(6)
(7)
(8)
(9)
(10)
(11)
(12)
(13)

2. TR
(1)
(2)
(3)

[4763]-315

A A SR T (FUCRT T@T)
TV LI FRUS kY ?
Arfier YRuMeTeaa U WS k1 ?

qEier  JSHEl e w

Jeoieh e Y foml

e ggusdl e wl

T FIEAOATE SfEse hIUEt  ?

el AT Al .
“fedtwmy.” e fom.

WU IENIAF AR L.
HFAfaoeii=l Gdheudl A& ol
RIS EARIC IR DU B i Tk
TR G HIO 2

“Hfreer g’ s =

H IEd Sk T (FRUCE @)
IS Sced STl foemyy e 9dy T .

URArAT iclfieh  ureeid=al SUare  diesd au+ .

~

TV IARAG  @eFl IgArEearel  YfHeha I &l

3

80

[20]

[10]

P.T.O.



3. TEl 10 I=d ISR I (PR BF) : [20]
(1) YRAdie ISR 3dAEEdE T (I6d) W 6.
(2) YA WURAREA  iefieh Yeheu R feum fomrn

(3) VS SdRA U IFEH Ao g TR &

4. TR 300 IEM SR T (FOWE ) [30]
(1) O YR STMYTeh h v hdshHd Hod (Thed) 1 ¥eeh HeMIhR
goifed L@ ? T H

(2) T onfur foshrd Ao faUemyEeR WehieEia  2Tehl.

(3) 1990 UEA W IAMOITAT ARG &0 THd  favew &
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Total No. of Questions—35] [Total No. of Printed Pages—4

Seat

No. [47631-316

T.Y. B.Com. EXAMINATION, 2015
INSURANCE, TRANSPORT AND TOURISM
Paper II
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Define Life Insurance. Explain in detail the claim settlement procedure

of Life Insurance. [16]

2. Enumerate the comparative study of Private Insurance Companies

versus Government Controlled Insurance Companies. [16]

Or

Define General Insurance. State the various conditions of General

Insurance Contract. [16]

P.T.O.



3. A

(B)

(A)

(B)

[4763]-316

State the objectives of Insurance Regulatory and
Development Act, 1999. [8]
Describe the role of Insurance agent in Insurance

Business. [8]

Or
Explain the main provisions of Insurance Act, 1938. [§]
Write a brief note on savings plans of Insurance

Business. [8]

4, State and explain in detail, the difference between Nomination
and Assignment. [16]
5. Answer the following questions in brief (any two) : [16]
(a) Write a brief note on Surrender of Policies.
(b) State the accidental benefits of General Insurance Contract.
(c) Write a note on Forfeiture of Policies.
(d) State the main provisions of General Insurance

(Nationalization) Amendment Act, 2002.



(A0S ®UI)
q% : A\ A THU T : 80
o :— (i) Wd WA Hisfau ofemds .
(i) IShSle 3k TYAE YU 7O SEifaar.

[ o

1. SIgfd=m=i A | STgfaErEl J6ar  WuE  fHesfauart &gl

W . [16]

o o A

2. @t fam wu=n faeg Wl fEf@ fam 1= a=n godes

AE foavre 1. [16]
fenar

gaaaRu fomren e wim. gaaar fom exwren fafay eret

7. [16]

3. (3 1999=x fam frouarcHs onfor fag wracu=i SEwe G [8]

(9 fom =eumE@ fom wset (ufafaedf=h) ofie foee & 8]
fepar
(31) 1938=a1 fawl I GHE TGl TR HA 8]

() fow e@Edie s=d AT (Saving Plans) IR i feu

o [8]

4. 9K (Nomination) 3T @R 3 (Assignment) IEMWHG HH
qrE, @ TR & [16]
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5. gole YTEl e S ol (RIUERr ae) o [16]

(37) dioRM=l dred  (Surrender of Policies) deR e feu foml

() gguR foar wIRdle AYHt ®REe (Accidental benefits)
.

(%) Uil Sal  (Forfeiture of Policies) 3R feu fearn

() 2002=a1 FHHRU fam =adE  (USEEETHRI0) FUR SHEACHAS

Y@ TRl 9
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Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4763]-317

T.Y. B.Com. EXAMINATION, 2015
COMPUTER APPLICATION
Paper II
(RDBMS, Networking, Internet and E-commerce)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

(iit) Neat diagrams must be drawn wherever necessary.

1. (A) Consider the following table and solve the following queries
(any four) : [8]
Student (rno, name, add, city, course)
(i) List the student details who belongs to Pune.
(iz) List the student details whose last letter is ‘N’
(iti) List the student number in ascending order.

(zv) List the student whose course is either BCA or BBA.

(v) List the student details whose address is ‘Pune’ and
‘Mumbai’.

P.T.O.



(B) Write syntax and use of the following commands (any four) : [8]
(i) Delete
(it) Alter
(ii1) Join
(iv) Select

(v) Grant.

2. Attempt any four of the following : [16]
(i) What is Internet ? Explain its different services.
(ii) Write different data types used in PL/SQL.
(iit) What are the advantages and disadvantages of DBMS ?
(iv) Explain the EDI component.

(v) Write a note on website.

3. Attempt any four of the following : [16]
(i) Explain Entity Relationship Diagram tools.
(i1) Explain aggregate functions in SQL.
(iiz) Explain Normalization concept in detail.
(iv) Explain the Secure Electronic Transaction (SET).

(v) Explain anchor tag of HTML with example.

4, Attempt any four of the following : [16]
(i) Explain Order and Unordered list tag with example.
(ii) Explain the role of e-Commerce.
(iit) Write a short note on Page Type.
(iv) Explain different types of Join with example in SQL.
(v) Explain EDI and explain the use of it.
[4763]-317 2



5. Attempt any four of the following : [16]
(i) Explain the electronic fund transfer.
(iz) What are the uses of Entrance and Exit Page in Web ?
(iiz) Explain web design pyramid in detail.
(iv) Explain different features of RDBMS.
(v) Write an HTML to display the following information :

Time Table

Time Mon Tues Wed Thur Fri Sat
8.00 to 9.00 Eng Eng Eng Sci Sci Sci
9.00 to 10.00 Mar Mar Mar Draw Draw | Draw

10.00 to 11.00 | Hindi Hindi Hindi Hist Hist | Hist

11.00 to 12.00 | Maths Maths Maths Geo Geo Geo
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Total No. of Questions—6] [Total No. of Printed Pages—3

Seat

No. [4763]-318

T.Y. B.Com. EXAMINATION, 2015
BUSINESS ADMINISTRATION
Paper III
(Finance, Production and Operations Functions)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. What is Financial Planning ? Explain important steps in Financial

Planning. [14]

2. Explain various finance functions. [14]

Or

State various factors influencing the capital structure of a
company. [14]

P.T.O.



3. (A) Explain various sources of Fixed Capital. [7]

(B) Explain factors influencing Supply Chain. [7]
Or
(A) Explain the functions of Stock Exchange. [7]

(B) What are the functions of Production Management ? [7]
4. Explain the factors influencing Plant Location. [14]

5. Write short notes on (any fwo) : [14]
(a) Production Control
(b)  Scheduling
(c) Techniques of Inventory Management
(d) Functions of Material Handling.
6. Discuss “Future of Indian Capital Market”. [10]
(TS TUIR)
q% : d\ A THU T : 80

ol :— (i) |d WA STeRIH SR
(ii) 3I9ehele @k TEAE YU IO SFIfHa.

(iii) TSIl U ZUST WIAUAHT g,

l(\'\ o N o N

T S =|us s ? faxia ESEde "=l e W

4

[14]
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2. fofay foxta = T =
ferar

ST Wiede TR 999 ureuk fafay =2 9.

3. () fer veae Syruiw fafay Ot o= =

(9) TYEEl HEEER 99E UIEUR - ¥k T Rl

fepar

(31) YN INRET hE TR &R

() 3SAERH FTRAIATE h1F HIol 2

o N

4. SN WHAHEdoR 99 I8 92 T .

5 dewa foor fowr (e 9F)

(31) A e
() HEIATAR
(%) #oEd  (Inventory) HAIEATIATE T

(8) Ho v (Material Handling)?ﬁ H.

6. ‘YA YWedx® dNNE wiads''—==i HL
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[7]

[7]
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[14]
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Total No. of Questions—®6] [Total No. of Printed Pages—4

Seat

No. [47631-319

T.Y. B.Com. EXAMINATION, 2015
BANKING AND FINANCE
Special Paper III
(Banking Law and Practice in India)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. What is Project Appraisal ? Explain in detail various aspects of

Project Appraisal. [14]

2. Explain any three important provisions in Banking Regulation Act

1949. [14]
Or

Define mortgage. Explain the different types of mortgages. [14]

P.T.O.



3. (a) Explain the bankers lien. [7]
(b) What precautions are to be taken by the banker while giving
loans ? [7]
Or
(a) What are the legal measures for recovery of bank loans ? [7]
(b) Explain the duties and rights of paying banker. [7]
4, What is negotiable instrument ? Explain in detail types of negotiable
instruments. [14]
5. Write short notes on (any fwo) : [14]
(a) Banker and customer relationship
(b) Amalgamation of banking company
(c) Payment of forged cheque
(d) Garnishee order.
6. Discuss critically the changing role of banking sector under

globalisation. [10]
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(WS wUIaR)
q% : o\ A TR T : 80

ol — (i) Wd WA Hiefau dAEydsh SR
(i) SoEhEls 3k YU O SFiferd.

(iii) TEUiHIdl HB TUSH WUl TRl

1. J%cd HoIHUd WU hd ? Yehed HoIHIGArAT fafay o] Hioew e

EX [14]

2. 1949=M dHi TOHN FECAe RIVERT  dF HEErel dgel w9

EXU [14]
fepar

TR WS I 7 TEOME a9y TeR T &L [14]

3. (31) FhEl URUMYSER TR HA. [7]

(9) % HS A HIO TEd AR ? [7]
fepar

(31) TRHET HAAGSARS HTAT NI HERIN  JUTTASAT T

EX [7]

(9) USRRt ofehell hded omfol SR Tee & [7]
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4., FogH THUIS WUN $E ? dJodeH cWuderd fafay geR afaw T

EX [14]

5. dieqa four fogr (o @F) [14]

(31) o MU URHw AAMG Hay

(9) R HIAE THAH
(%) @@ YHARITN USH
(8) o=l BRI

o o)

6. STTfaehisrom=an 9fshad shin A= dcoca yfge=n fehrms ==t

EX [10]
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Total No. of Questions—6] [Total No. of Printed Pages—8

Seat

No. [4763]'320

T.Y. B.Com. EXAMINATION, 2015
BUSINESS LAWS AND PRACTICES
Special Paper III
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. What are the sources of government revenue ? Explain the objectives

and classification of taxes. [14]

2. Explain the concept, “Transaction Value”. What are the specific exclusion

from transaction value ? [14]
Or
Explain the following terms : [14]

(i) Types of Excise Duty

P.T.O.



(i1)

(4i1)

3. (a)

[4763]-320

Service tax and its need

Provisions for concession to SSI.

Determine the assessable value and excise duty on the manufacture

of a product from the following information :

Particulars
(i)  Direct materials
(i1) Direct wages and salaries
(itzi) Works overheads
(iv) Quality control costs
(v) Research and development cost
(vi) Administrative overheads
(vit) Selling and distribution costs

(viii) Realisable value of scrap

Rs.

2,32,200

1,68,000

1,24,000

70,000

48,000

82,000

32,000

24,000

Administrative overheads are relation to production activities.

Material cost includes Excise duty of Rs. 32,000. The rate

of excise duty on the product is 14% plus education cess as

applicable.

[7]



(b)

(@)

(b)

[4763]-320

Determine the transaction value and excise duty payable from

the following information :

Total invoice price Rs. 7,20,000

The invoice price includes the following :

(1) State VAT Rs. 40,000
(1) Octroi Rs. 8,000
(ii1) Insurance from factory to Depot. Rs. 4,000
(iv) Freight from factory to Depot Rs. 28,000

Rate of basic Excise Duty 14%, ad-valorem rate of education

cess as applicable. [7]
Or

State the provisions under Customs Act, 1962 relating to duty

on “Pilfered Goods”. [7]
Explain the following concepts : [7]
(i) Coastal goods

(i) Imported goods

(iiz) Prohibited goods.

3 P.T.O.



6.

Mr. X is a manufacturer, sold goods to Mr. B, a distributor for
Rs. 4,00,000. Mr. B sold goods to Mr. C, a wholesaler for Rs. 4,80,000.
Mr. C sold goods to Mr. D, a retailer for Rs. 6,00,000, who ultimately
sold the goods to a consumer for Rs. 8,00,000. All the sales are
within a state of Maharashtra. The selling prices are excluding of
VAT. If VAT is 12.5% on all purchases and sales, compute input
tax credit available to and net tax payable by manufacturer, distributor,

wholesaler and retailer under Maharashtra VAT Act, 2002. [14]
Or

What is VAT ? Distinguish between Sales tax and VAT. [14]

Write short notes on (any fwo) : [14]
(a) Provision relating to customs valuation

(b) Territorial waters and customs waters

(c) Exemption on baggage

(d) VAT Audit.

Explain the Provisions of Payment of Service Tax and Returns. [10]
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(AOE ®UI)
q% : A A THU T : 80
o :— (i) |d WA A oA
(i) ISeEhele 3 qul IO <Fifaar.

o
[

1. 9N Tege Heawae fafag AWM &M 7 w09 I 9 ANRO W

EX [14]

2. HTERYAE Gheddl TR HI. HAER Joad FMEEfyqo sfTesean Smom=
arel forte AL [14]

fepar

GHS Gheddl T2 h : [14]

(i) UG Ioohrd TR

(i) W H AN N RS

(iii) 9 AN STHUFA HIod=a adal.

3. (3) Ude Hifgdeed UG hedl SOl Scaerd i SRR oo

9 JElie 36T I[ok MREd A
quziS .

(1) 9 HS 2,32,200
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(ii) 9A& B F oad 1,68,000

(jii) HREM AT T 1,24,000
(Gv) Ton e wd 70,000
(v) HEA § fowE wH 48,000
(vi) WEHRE AYTT T 82,000
(vii) famt 3 famo == 32,000

N oA

Tl HIS HeA (scrap value) 24,000

(viii) %4

RHhE e (AYFel) B SRR Hafyd e, Hior=l  Eayey

IqeT IR 32,000 T HAMOEE @ IART  Ioohl X 14%  STA

fgom ITR I ST 7]

GOl Higdioed Fesrk Hod 3l 9 3Idled ook MR=d 7 :

TRU R fohHd 7,20,000 .

dioteh fopudid ©OG dell THIOSE 3T8d

(i) T Hoadafdd 40,000 .
(ii) SThId 8,000 %.
(iii) HRETARE HeRadaan o 4,000 ®.
(jv) FRENRE TERTHdE e 28,000 .

AR ekl Hod X 14% (qoIre 3nenfid) o Rieor Suehl o]
3. [7]



4.

fepar

N

A= wel! ale  I[ehEeyd

(1) HH ok HEE, 1962 A YA

U TRAE! | [7]

(9) TG Fheddl e & [7]

(i) 9l fearaedie e%] (Coastal goods)
(iz) 3™ 9% (Imported goods)

(iii) gfqafad 9% (Prohibited goods)

o ‘e’ T IURE SR, WMl IAed hoedl o st ‘a’ fadew @

400,000 & @ fawme. st ‘9’ I it ‘&' W U™ AT 4,80,000 .

& fagwea. st ‘s’ A 4 ‘T foetwles =R AT 6,00,000 T @

fomear. &t ‘T A @1 9% UEH 8,00,000 % @ famed. alie wd

oA

foh! TR ToAd ol oA faskl fhadia Jooafdd i=n §HeRT .

S Hd TS 9 foshler Hogdfdd e ¥ 12.5% 38, T IAGH, i,

e AR d fhihios AR AT TG STHOT $TYS <o hele (input

tax credit) 9 ToI@ AN WS HoIafdd wT G, 2002 T

EA[C] [14]

fepar

qegdafdid i WU w7 fashl w9 Hoddafd o ANG Wi W

EX [14]
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5. dieqd four fogr (o @F) [14]

(1) WH [k HAKAT SedeAl Tdal

() & Sy (Territorial water) 31Ul €Tl 3ok S&d  (Customs

water)

(F) NS Faodl

() HoHadd TS SThe.

6. YAl K WOIEA] el M Tl X ¥ TIeRu-U3 WUgr=Al Rl TR

EX [10]
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Total No. of Questions—®6] [Total No. of Printed Pages—4

Seat

No. [4763]-321

T.Y. B.Com. EXAMINATION, 2015
CO-OPERATION AND RURAL DEVELOPMENT
Paper III
(Co-operative Marketing Management)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Define consumer co-operatives. Explain the need and objectives of

consumer co-operatives. [14]

2. Define co-operative marketing. Explain the different types of

co-operative marketing. [14]
Or

Define marketing research. Explain the scope and steps involved

in marketing research. [14]

P.T.O.



3. (a)

(b)

(@)

(b)

Write a brief note on poultry co-operatives.
Explain the scope of marketing. [14]
Or

Explain the objectives of the Agricultural Produce Marketing

(Development and Regulation) Act, 2003.

Write a brief note on co-operative produce marketing. [14]

4, Describe in detail the objectives and performance of NAFED (National

Agricultural Co-operatives Marketing Federation of India Ltd). [14]

5. Answer the following questions (any two) : [14]

(1)

(2)

3)

(4)

Explain the functions of Agricultural Produce Market Committee.

State the objectives of Agricultural Produce Market (Regulation)

Act, 1963.
Describe the organisational structure of NAFED.

Explain marketing strategy of co-operatives for exporting

agricultural produce.

6. Explain the problems of Agricultural Produce Market Committees. [10]

[4763]-321
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q% : AN A TR T : 80

TR H. [14]

et foquArt =men 9 Wesll fouome soe fafay R ww

. [14]
feRar

faqom il e wim. fouue "iftemren st enfu faawe

I FEIfase O U $A% L [14]

(31) ‘"Nl dETelle fehedlod’ AR e feu foml

(&) foouom=i = T 5L [14]
feRar

(31) 2003 = HfH 3@ dNR (fae™ 9 FETES) FEcIHET B

e h.

(F) ‘Hehrl 3deA™ fauom’ JeR gesda fed fomn [14]
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4., % (NAFED) (U< $fy ¥esil fouvm @9 : National Agricultural

[aWaY o

Co-operatives Marketing Federation) = 3Igted offtr sl wfowdy
e =+ [14]

5. Woe YrAEl S ol (PR @) e [14]

n_n

(1) U 3@ IoR AT HE T HA

(2) 1963 =N FfN IO IR (FIHIHes) wERaEr ygE it fare

< .

(3) TThe<l HueAHe T TR .

o i"\ [aV [a

(4) HfU SUEE Ao FEdEES Auo0 FelEd TR

6. TN IUA IR AHATN THET TR FH. [10]
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Total No. of Questions—35] [Total No. of Printed Pages—4+1

Seat
No. [4763]-322
T.Y. B.Com. EXAMINATION, 2015
COST AND WORKS ACCOUNTING
Paper III
(Costing Techniques and Cost Audit)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

1. (A

(i1) Figures to the right indicate full marks.

(ztzz1) Use of calculator is allowed.

Fill in the blanks (any five) : [5]

(i) The margin of safety is the difference between actual

sales and ......oeeniennnil. sales.

(ii) Budgetary control involves checking and evaluation of

..................... performance.

(itzi) Interfirm comparison becomes meaningless in the absence

P.T.O.



(B)

[4763]-322

(iv)

(v)

(vi)

State

five) :

(2)

(i1)

(4i1)

(iv)

(v)

(vi)

Cost Auditor is appointed by the ..................... .

Efficiency audit and ..................... audit are the parts of

cost audit.

Target costing is originated in ..................... .

whether the following statements are True or False (any

[5]

Contribution is the difference between the selling price

and fixed price.

Flexible budget is prepared at different levels of efficiency.

Uniform costing system and interfirm comparison are

independent of each other.

Standard costing is a technique that can be applied to

all methods of costing.

Cost audit assists the government in the fixation of proper

prices of products.

P/V ratio can be improved by increasing the selling

price.



2. What is Interfirm Comparison ? State the objectives of interfirm

comparison. [15]

Or

What is Cost Audit Report ? State the important points to be

incorporated in Cost Audit Report. [15]

3.  Write short notes on any three of the following : [15]

(i)  Requisites of uniform costing
(i) Variance analysis

(iiz) Efficiency audit

(iv) Cost audit program

(v)  Objectives of CAS.

4, Infosis Ltd, Mumbai provides the following data :

Sales Rs. 1,50,000
Marginal cost Rs. 1,20,000
Fixed overheads Rs. 20,000

[4763]-322 3 P.T.O.



You are required to calculate :

(2) P/V ratio

(zz) BEP (sales)

(iit) Margin of safety when sales are 4,00,000

(iv) Sales required to earn a profit of Rs. 80,000. [20]

5. Bajaj Ltd, Bhivandi provides the following cost data for a 60% working

capacity from which you are required to prepare a flexible budget

for the production at 80% and 100% capacity level : [20]
Current production Units 600

Selling price (fixed) per unit Rs. 300

Process material cost per unit Rs. 100

Productive wages per unit Rs. 40

Direct expenses Rs. 10

Total works overheads (40% fixed) Rs. 40,000

Total office, selling and distribution overhead Rs. 30,000 (50% variable)

[4763]-322 4



Or

From the following cost data made available by Goodwill Ltd, Calcutta,

calculate :

(2) Labour cost variance

(zz) Labour rate variance

(iiz) Labour efficiency variance

(zv) Labour mix variance.

The standard labour force for manufacture of a product ‘Gulab’ is

as follows :

J 20 unskilled workers @ Re. 0.75 per hour for 50 hours

J 10 skilled workers @ Rs. 1.25 per hour for 50 hours

whereas the actual labour force employed for manufacture of a product

‘Gulab’ is as follows :

J 20 unskilled workers @ Re. .80 per hour for 50 hours

J 80 skilled workers @ Rs. 1.20 per hour for 50 hours.

Also verify your results.
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Total No. of Questions—35] [Total No. of Printed Pages—8+2

Seat
No. [4763]-323
T.Y. B.Com. EXAMINATION, 2015
BUSINESS STATISTICS-III
(Special Paper III)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

1. A

(i1) Figures to the right indicate full marks.

(z1zz1) Use of statistical tables and calculator is allowed.

Attempt any four of the following : [8]
(a) Evaluate :

1 o2

I (2x°)dx

0
(b) State Simpson 1/3rd rule for numerical integration.

(c) Explain the term ‘pessimistic time’ in PERT.

P.T.O.



(d) Obtain the saddle point for the following game :

Player B

13 17
Player A

-15 15

(e) State the long form of CPM and PERT.

(f) State whether each of the statements given below is true

or false :
(i) In pure game there does not exists saddle point
(ii) x chart is called as attribute chart.
(B) Attempt any wo of the following : [12]
(a) Using Trapezoidal rule, evaluate :
I;O x% dx
by taking A = 0.1.
(b) Solve the following game :

Player B
(1 3 4]

Player A |5 4 5

7 0 3

[4763]-323 2



(¢c) The maintenance cost and resale value per year of a

machine whose purchase price is Rs. 25,000 is given

below :
Year Maintenance Cost Resale Value

(in Rs.) (in Rs.)
1 650 12,000
2 850 9,500
3 1,100 7,500
4 1,450 5,700
5 2,150 4,200
6 3,550 3,900
7 5,050 2,900
8 6,850 2,000

When should the machine be replaced ?

[4763]-323 3 P.T.O.



2. Attempt any two of the following : [16]

(@)

[4763]-323

A road transport company has one reservation clerk on duty

at a time. He handles information of bus schedules and make

reservations. Customers arrive at a rate of 9 per hour and

the clerk can service 10 customers on an average per hour.

Under assumption of queuing theory, find :

(i) Average number of customers waiting for the service of

the clerk.

(ii) Average number of customers in a queue.

(iiz) Average waiting time of customer for the service of the

clerk.

(iv) Probability that the reservation clerk is idle.

(v) Probability that a customer has to wait before he gets

service.



(b)  For the following network find all paths and identify the critical

path :

Also calculate earliest start time for event 5 [ES5].

c) (@ Distinguish between assignable and chance

causes.

(II) Explain the term in game theory :

(i) Two person zero sum game

(i1) Mixed strategy

(iii) Payoff matrix.

[4763]-323 5 P.T.O.



3. Attempt any #fwwo of the following : [16]
(a) Explain the following terms :
(i) Decision under uncertainty
(ii) Service rate
(ii1) Opportunity loss
(iv) Calling population

(b) A news paper boy has the following probabilities of selling a

newspaper :
No. of copies sold Probability

25 0.10

26 0.30

27 0.50

28 0.10

Cost of copies is Rs. 8. Selling price is Rs. 10. He cannot
return unsold copies. How much copies should he order using

EMYV criteria ?

[4763]-323 6



(¢c) Fill in blanks in the following table marked by ?

sign :
Age | Ix d | q | p,| L T, e
41 | 42605 ? ? ? ? 1018185 ?
42 | 42534 | — | — — — 976049 ?
Also write two uses of life table.
4., Attempt any two of the following : [16]

(@) (I Evaluate :
J.xex dx
(II) Explain the following terms :

(i) Tolerance limits
(i) Process capability index

(iti) Control limit for drawing np-chart.

[4763]-323 7 P.T.O.



(b) Construct control charts for mean and range for the

following data on the basis of 10 samples of size 5

each :
Sample No. Mean Range
1 101 26
2 117.33 24
3 110 18
4 102 26
5 78.33 6
6 93.33 20
7 111.67 19
8 90 15
9 89 12
10 109 27

Also comment on whether the process seems to be control
(n =5, Ay, = 0577, Dy = 0, D, = 2.115).

[4763]-323 8



(¢c) Using Simpson 3/8rd rule, compute :

6
j(x2 +1) dx
0

(Take A = 1).

5. Attempt any {wo of the following : [12]

(a) The following is the probability distribution of monthly demand

of cars :
Demand Probability
0 2/50
5 11/50
10 8/50
15 21/50
20 5/50
25 3/50

Using random numbers given below estimate demand for next

10 months :
35, 52, 90, 13, 23, 73, 34, 57, 35, 83.

[4763]-323 9 P.T.O.



(b) From the following pay-off table (of profit) determine optimal

strategy using maximax, Laplace, Hurwicz and minimax regret

criterion
Demand —

Stock

F F

g

(Take o = 0.8)

Ny

N,

12

16

(¢)  Given below is the information about a project regarding different

activities. All time estimates are in days :

Activity

1—2
2—3
2—4
2—5
3—6
4—6
5—7

6—7

tO

1

1

4

1

t

m

3

5

3

6

5

Determine expected time estimate and variance for each activity.

[4763]-323
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Total No. of Questions—®6] [Total No. of Printed Pages—4

Seat

No. [4763]-324

T.Y. B.Com. EXAMINATION, 2015
BUSINESS ENTREPRENEURSHIP
Paper III
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Define the term ‘Personality’. What are the determinants of

personality ? [14]

2. What do you mean by ‘Organizational Behaviour’ ? Explain its scope

and importance. [14]
Or
Write a detailed note on ‘Indian Industrial Leadership and challenges

of new scenario’. [14]

P.T.O.



3. (a¢) What are the limitations of informal group ? [7]

(b) Write a note on ‘Job Rotation’. [7]
Or
(a) Write a note on ‘Managing team’. [7]
(b) Why do employees resist to change ? [7]
4, At individual level, how one can manage the stress ? [14]
5. Write short notes on (any fwo) : [14]

(a) Group dynamics

(b) Management by objectives

(c) Types of team

(d) Causes of change.

6. You are given an assignment to resolve the conflict at organizational

level. How will you do it ? [10]
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(AOE ®UI)

® : dm A" THUT 7T : 80
o :— () Wd WA Giefan sewde o,
(i) ISEhele 3 qul IO <Fifaard.

1. ‘I’ eyl AN Wl d SUIUR Heeh HIvd o TS KL [14]

2. 'OFeAH& add’ WUN &E 7 Al AW 9 Hed e & [14]
fepar

‘YRt ofRNfTe g onfor e ufifeerdi=Rt steem’ AR wfawR did

fomr. [14]

3. (31 U= Teren HAlRl R ? [7]

(9) ‘&E age’ AR Iq fomn [7]
feRar

(37) ‘FE FEEdE’ IeR 9 fosn [7]

(9) wHHAR oce@ oy &1 waa ? [7]

4, AfFdTd UTdEeR TENEl SHSdl  qIorduai® sgaLelidd  HIMIhR &

IThd ? [14]
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5. dieqd four fogr (o @F) [14]

(37) 998 W& Gmed

(F) Sfesafufted azamd=
(%) TIE ThR

() goE I

6. TS UGS TN WeauarEl SeeRRl U S el ST

T T R o ? [10]

[4763]-324 4



Total No. of Questions—6] [Total No. of Printed Pages—3

Seat

No. [4763]'325

T.Y. B.Com. EXAMINATION, 2015
MARKETING MANAGEMENT
Paper III
(Advertising Management)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Describe social and economic effects of advertising. [14]

2. Explain the factors affecting selection of advertising media. [14]

Or

Define “Advertising Layout”. Describe the components of Advertising

Layout. [14]
3. (a) Describe the importance of advertising agency. [7]
(b) Explain the role of women in advertising career. [7]

P.T.O.



Or

() Explain the advantages of advertising as a profession. [7]

(b) Describe the “Advertising in Non-business Areas”. [7]
4, Define “Brand”. Explain the different types of brands. [14]
5. Write short notes on (any fwo) : [14]

(a) Future of advertising
(b) Career opportunities in advertising
(c) History of advertising agency

(d) Corporate advertising

6. Explain the steps involved in branding decision. [10]

(AOE ®Ui)

q% : o A TR T : 80
o :— () Wd WA Giefan sewde o,
(i) ISEhele 3 qul O <SFifaar.

(iii) TEUidId! HB TUSHT WUl UgrEl.

1. feudien gmifses enfor oYl ofRomae 9uig . [14]
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2. Sifeqd A= oo gRom om uesh T . [14]

fepar

Sed WA= e o Siiedd {odie Sayd Sk 9o . [14]

3. () fewd == U™ fwRE = [7]

(9) feld FR&Ridie St fyer e &0 [7]
ferar

(31) WIfedd Th W’ WA & EmES T 6. [7]

() forR =aewfaes &9die Sifeddie 9uid . [7]

4. fo=e=l  (brand) =ren = fo=m fofay ger w= = [14]

5. dieqd four fogr (@@ @F) [14]

~

(31) fedd= wfaded

() Wfeddidie wRfshe gei
(%) <nfeud S&¥=n sfae™
(8) WIS Sfed.

6. fagmT=N (branding) TG W= T & [10]
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Total No. of Questions—®6] [Total No. of Printed Pages—4

Seat

No. [4763]'326

T.Y. B.Com. EXAMINATION, 2015
AGRICULTURAL AND INDUSTRIAL ECONOMICS

Paper III

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Explain the role of District Central Co-operative Banks in agricultural

credit. What are their drawbacks ? [14]

2. State the drawbacks of traditional methods of irrigation. Explain

the advantages of improved methods of irrigation. [14]
Or

Discuss recent trends in agriculture economy. What are their comparative

merits and demerits ? [14]
P.T.O.



3. (a)

(b)

(@)

(b)

Describe the growth of dairy co-operatives in India. [7]
Explain the issues of agricultural income tax in India. [7]
Or

Explain the impact of Industrial Policy 1956 on industrial growth

in India. [7]

Describe the measure used by government for balanced industrial

development in India. [7]

4. Describe in brief the growth of private investment in infrastructure

development in India since 1991. State its advantages. [14]
5. Write short notes on (any fwo) : [14]
(a) Problems of SEZ
(b) Role of MNC’s in Industrial development in India
(¢c) Broad features of Industrial Policy 1991
(d) Malpractices of MNC’s.
6. Explain the growth of dairy co-operatives in your area. [10]
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(iii) TEUidIdl HB TUSH WUl Ugrel.

1. It fod Tocudic fSogl Awed Wehil darl sl e &Y. &

qIY IO 3MRd ? [14]

2. SOEEE WA 9Gdre S 9. o= gaiid 95ae B w0

. [14]
feRar

I ATTTEAG STHhele Ygardl =@l HA. E o [O-S8 I

3Ted. [14]

3. (31) YNANMIe U WERRl HErEl geEi fae A [7]

(9) 9RAGG I 30 HUHSEHT gae T H [7]
feRar

(31) 1956=M S RO vRandie il gediade aiom s

. [7]

(9) YRAdie THde Acdiih far™dd T dNod U™ fare

EX [7]
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4. 1991 UHA YRAdie gyd gfaw=n foemde @eri Jaauwids

gl eieea fere & [14]

5. dewEd foo fegr (o @) [14]

(A) T (SEZ) 9u=n

(F) YRAe sl fommde dgusi™d Su=art i
(F) 1991=M AcEfieh €Ul 3@ afiTeed

(T) gURE S TRISHR.

6. TIA WIle T TehRl Hem=l Jgeft ¥ & [10]

[4763]-326 4



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4763]'327

T.Y. B.Com. EXAMINATION, 2015
DEFENCE BUDGETING, FINANCE AND MANAGEMENT
Paper III
(Defence Budgeting and Financial Management in India)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
1. Answer in 20 words each (any ten) : [20]
(1) Define logistics management.
(2) State the meaning of financial planning and control.
(3) What do you mean by mobilization of war potential ?
(4) State the meaning of integrated defence.

(5) Define economic warfare.

P.T.O.



(6) Write any fwo aims of peace time economy.
(7)  What do you mean by strategic threats ?
(8) What is Zero Budget ?

(9) Define military doctrine.

(10) State the meaning of war time economy.
(11) Write the long form of DPSU.

(12) What are the sources of War Finance ?

(13) Define military ideology.

2. Answer in 8 words each (any two) : [10]
(1) Explain purpose of financial planning.
(2) Discuss merits of peace time economy.

(3) Discuss causes for increasing Defence Expenditure.

3. Answer in 150 words each (any fwo) : [20]
(1) Explain limitations of Defence Management.
(2) Discuss trends in India’s Defence Expenditure

(3) Describe the structure of India’s Defence Budget.
[4763]-327 2



4, Answer in 300 words each (any {wo) : [30]
(1) Write a note on the financial administration of the armed forces.
(2) Discuss characteristics of India’s Economic System.

(3) How does Parliament control over Defence Budget ? Explain.

(WS wUIaR)
q% : A\ A TR T : 80

o :— (i) Wd WA HiSfau dAEwdsh SR
(i) SoEhEls Fh YU O SFiferdm.

1. B/ D I3[ SW ol (FUaE 9@l e [20]

(1) ‘'qUaeeTeRAYT =t e <.

o N o N

(2) foda fEmeE enfor s =us s 2

"

(3) Js &HAA TfHEG WUS wE ?

(4) zoRce (twdy) feh=n e fomn

(5) offdeh Ygugdrel AT .
(6) IMAaeRle FEREE @M ®q ol
(7) 9HR& 9% ®/US &E ?

(8) I SMURA AYH®HeY WIS &HE ?
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(9) dFF®! TEUUISE e S

(10) ISk TR TS FwE 2
11 fe. @ wa 3 = yf wwu fom
(12) FSMet SYRvA=N W9 o ?

A\~ [a

(13) ‘Tffent fo=Ru'=t =area <.

2. 2 I&d SW N (PO BE) : [10]

(1) foxig fESHERE 8] &< &

(2) IMAAeRleA  Siefedees TurHifasl ==l .

(3) ﬁ?&ﬁuuqﬂw SEASTOT=T  FRonfaeet’’ == .

3. 150 3I=d SW =N (HUE qF) [20]

(1) T o=l HIiE] T .

(2) YRAE WU T C‘we’’ (dvew) fawe == @

(38) YRArEA WU ASSUSGET &A1 duid &

4. 300 I=d SW =M (HUEE EF) [30]

TS

(1) W ARLde foadEawmes IR fogu  foml.

(2) 9RAren e oHedemr dfiTse ded ==l R

(3) TIYU ISIUAHRER THUS HIM YR FRE0 wid ? T HA.
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Total No. of Questions—®6] [Total No. of Printed Pages—4

Seat

No. [4763]'328

T.Y. B.Com. EXAMINATION, 2015
INSURANCE, TRANSPORT AND TOURISM
Paper III
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Enumerate the functions and working of WTO (World Tourism

Organisation). [14]

2. Explain the factors related to Travel and Tourism business.
Or

Explain the functions and working of IUTO (International Union of

Travel Organisation). [14]

P.T.O.



3. (a) Write a brief note on TAAI (Travel Agents Association of

India).
(b) Explain the role of city guides in tours.
Or
(a) Explain the role of Embassy in International Tour.

(b) State the significance of tour operator in Tourism. [14]

4, Distinguish between tourism in India and tourism in other

countries. [14]

5. Answer the following questions (any two) :
(1) Write a note on tour-packages

(2) Explain the significance of communication skill for

tourism.
(3) Write a brief note on tourism in Thailand

(4) Write a note on Tour Accommodation. [14]

6. Explain the need of behavioural aspect for Tourism. [10]
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(AOE ®UI)
q% : o A THU T : 80
ol :— (i) §d WA Giefau sewds SR
(i) ISehele 3 qul IO <SFifaar.

1. ‘SFfae e weedt’ (World Tourism Organisation) &M 7T &MAR

gfaex fwe =+ [14]

2. I MU wfed FauEmEh AEld oo Weh TR AL
fepar
I oAl AR I (IUTO) & iU il &5 . [14]

3. () YRdHE Yorg gfafet d€w  (TAAD IeR odiesda feu fosr [14]

(&) FE/yeEd 5 e s Yfier T L

fepar

(37) AW JYame] Wahid ahied  (Embassy) = e ¥

< .

() YA IE-3TEINThE TGS Heed 9.
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4, RO e oAfU TR @MAie 9T a1 SEWH e Wah faze &a. [14]

5. Woe WAET SR W (UGl dF) [14]
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Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4763]-329

T.Y. B.Com. EXAMINATION, 2015
COMPUTER APPLICATION
Paper III
(MIS, Software Engineering and Enterprise
Resource Planning)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(iit) Neat diagrams must be drawn wherever necessary.

1. (A) Attempt any four of the following : [8]
(i) Write format of decision table.
(ii) What is system ? State its characteristics.
(iit) What is feasibility study ?
(tv) What is BPR ?
(v) Explain the role of system analyst.

P.T.O.



(B)
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Attempt any o of the following : [8]
(i) Explain Customer Relationship Management
(it) Write a note on Software Engineering.

(izi) Explain the concept of Business Process Re-engineering in

detail.
2. Attempt any four of the following : [16]
(i) Explain different fact finding techniques.
(ii) Explain 4GL approach in detail.
(ii1) Explain ISO standards in detail.
(iv) Explain the role of MIS.
(v) Explain the concept of tuning and optimization of software
quality.
3. Attempt any four of the following : [16]
(i) Explain spiral model.
(i1) Differentiate between structural and non-structural interview
technique.
(iiz) Explain input design with example.
(iv) Differentiate between MIS and BPR.
(v) Explain system implantation strategies.
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4, Attempt any four of the following : [16]
(i) Explain system requirement specification.
(ii) Explain different types of testing.
(iti) Write a note on Information Management in SCM.
(iv) Explain SDLC in detail.
(v) Explain SRS in detail.
5. Attempt any four of the following : [16]
(i) Explain the concept of decision tree with an example.
(i1) Write a note on ISO standards.
(iiz) What is maintenance ? Explain different types of maintenance.
(iv) What is DFD ? What are the different types of symbols used
in DFD ?
(v) Explain McCall’s quality factors.



Total No. of Questions—2] [Total No. of Printed Pages—2

Seat

No. [4763]-330

T.Y. B.Com. EXAMINATION, 2015
COMPUTER APPLICATIONS
(Vocational Course)

Paper V
(2008 PATTERN)

Time : Two Hours Maximum Marks : 40

1. Answer the following questions (any five) : [20]
(a) Explain the scope of E-commerce.
(b) Explain advantages and disadvantages of E-commerce.
(c) Explain joint application model to develop a website.
(d) What is protocol ? Explain different types of protocols in
detail.

(e) Explain different ways to connect your PC to internet ?

(A Explain web pyramid with a diagram.
P.T.O.



2. Write short notes on (any five) :

(a)
®)
(c)
(d)
(e)
%)
&)

[4763]-330

WWwW

Domain name system
Trade Cycle

Internet Commerce
Search engine

Internet Service Provider

Intranet.

[20]



Total No. of Questions—3] [Total No. of Printed Pages—2

Seat

No. [4763]'331

T.Y. B.Com. EXAMINATION, 2015
ADVERTISING, SALES PROMOTION
AND SALES MANAGEMENT
Paper V (Vocational)
(Sales-force Management)
(2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Define the term ‘Performance Appraisal’. Narrate its importance. [12]
Or

What do you mean by ‘Sales Quota’ ? Explain factors to be considered

for setting sales quota.

2. Enumerate the ethical and legal aspects of public relations. [12]
Or

Give meaning of the term ‘Customer Relationship Management’. Explain
the elements of customer relationship management.

P.T.O.



3. Write short notes on (any two) : [16]

(a) Importance of sales management

(b) Procedure of recruitment

(¢) Sales forecasting

(d) Tools of public relations (any four).
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Total No. of Questions—4] [Total No. of Printed Pages—3

! [4763]-332
T.Y. B.Com. EXAMINATION, 2015
TAX PROCEDURE AND PRACTICES
Paper V (Vocational)
(Customs Act)
(2008 PATTERN)
Time : Two Hours Maximum Marks : 40

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 2 words (any five) : [10]

(2) When did the WTO established ?

(ii) The rates of additional duties are provided in....

(zit) What is
(tv) What is
(v) What is
(vi) What is

(vit) What 1is

meant by ‘Dutiable Goods’ ?
meant by ‘Basic Customs Duty’ ?
meant by ‘Transaction Value’ ?
meant by ‘Transhipment Bond’ ?
meant by ‘Noting’ ?

P.T.O.



(1)

(2)

(3)

(4)

(5)
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2. Answer in 8 words each (any two) : [8]

(1) What is ‘Demurrage’ ? What are the kinds of demurrage ?

(2) What do you mean by ‘Duty-drawback’ ? What are the rates
of duty-drawback ?

(3)  Who is called ‘person in charge’ ? Which document required
to be prepared by him at the time of clearance of good at
the time of import and export ?

(4) What are the provisions for ‘General Free Allowance’ for
baggage ?

3. Answer in 150 words each (any two) : [10]

Distinguish between ‘Baggage’ and ‘Bonafide Baggage’.
Distinguish between ‘Customs Duty’ and ‘Central Excise’.

What is meant by ‘Territorial waters’ and ‘Customs waters’ under

Customs Act ?

Enumerate administrative set up under Customs Act. What are

their powers and duties ?

Discuss ‘Bill of Entry’ and ‘Shipping Bills’ under Customs Act.

2



4. Answer in detail (any one) : [12]

(1)

(2)

[4763]-332

What are the types of Custom Duty ? Discuss how they

are charged? What are the objects for levy of such

duties ?

What is meant by ‘Custom Station’ ? What are the kinds of

customs stations ? What is their importance ?



Total No. of Questions—3] [Total No. of Printed Pages—2

Seat

No. [4763]-333

T.Y. B.Com. EXAMINATION, 2015
ENTREPRENEURSHIP DEVELOPMENT
(Common to)

(i) Computer Applications
(Ii) Advertising, Sales Promotion and Sales Management
Paper VI (Vocational)

(2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Highlight the need of entrepreneurship in modern society. [12]
Or

Bring out the merits and demerits of partnership form of organisation.

2. Write a detailed note on the role of consultancy organisation. [12]

P.T.O.



Or

Define the term ‘Break-even point’. Explain its features and limitations

in brief.

3. Write short notes on (any two) : [16]
(a) Procedure for registration of SSI
(b) Barriers to entrepreneurship
(c) Marketing segmentation

(d) Soft skills.

[4763]-333 2
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Seat

No. [4763]-334

T.Y. B.Com. EXAMINATION, 2015
TAX PROCEDURE AND PRACTICES
Paper VI
(Entrepreneurship Development and Project Report)
(Vocational Course)
(2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 2 words each (any five) : [10]
(1) Define “Entrepreneur”.
(2)  Why is entrepreneurship important in India ?
(3) State the various stages of entrepreneurial process.
(4) What do you mean by “human resource planning” ?

(5) State the learning objectives of an entrepreneurship.
P.T.O.



(6) State the various types of ownership.

(7)  What do you mean by “prospects” of a company ?

2. Answer in 8 words each (any two) : [8]
(a¢) What are the main basic qualities of a entrepreneur ?
(b) What is “Job specification” ?
(¢c) What are the disadvantages of a private sector ?

(d) State the various ‘marketing functions’ ?

3. Answer in 150 words each (any two) : [10]
() On which criterions markets are classified ?
(i1) Write a note on “Memorandum of Association” ?
(iit) Write down the various sources required for any business activities.

(iv) Give the difference between entrepreneur and professional manager.

4. Answer in 500 words (any one) : [12]
(a) Explain in detail the theories of an “Entrepreneurship”.

(b) “Entrepreneurship is the life-blood of any economy.” Discuss.

[4763]-334 2
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